o How much water is there in each beaker?

a)

b)

"\T

100 ml—
90 mI—_
80 ml—
70 ml—

- —60-mi

50 mi—
40 ml—
30 mi—
20 mi—
10 ml—
—

100 mI—_
90 ml—

80 ml—
70 ml—
60 ml—
50 ml—
40 ml—=
30 ml=
20 ml—
10 ml—

—

o Jack pours 12 ml of
water into a
measuring container.

Draw a line to show where the water reaches. .2./}

L/

C) ~

d)

100 I'I'll—_
[0 I'I'll—_
80 ml—
70 ml—
60 ml—
50 ml—
40 ml—
30 ml—:
- 20 md

10 ml=
U )

100 I'I'll—_
a0 I'I'll—_
80 ml—
70 ml—
60 ml—
50 ml—
40 ml—:
30 ml—
20 ml—:
10 ml—

— L

20mil

10 ml

| )

o A teaspoon holds 5 ml.
A tablespoon holds 15 ml.

— e 4 —<€ >

5 ml 15 ml

Work out the total capacity of the spoons.

ﬂ)-"-'--""--""-
e

b) ——= —==

fa) e
-

o A recipe includes 45 ml of lemon juice.
o

I can
measure this using
a teaspoon.

teaspoon 5 ml

——

tablespoon 15 ml

a) How many teaspoons is 45 ml?

b) Find another way of measuring 45 ml using
teaspoons and/or tablespoons.
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o How much water is in each bucket? Each bucket contains 5 | of water.

Tommuy pours all the
a) b) yp

water into the barrel.

Show where the water will reach in the barrel.
o Each of these barrels holds 20 |.

How much water is in each barrel?

a)

o Milk is sold in 5 | and 2 | cartons.

How much milk is there altogether?

n} ¥ o
5 5
litres]| |litres
litr Iitrg : : 3

o Tommy has 3 full buckets of water. o Tick the cartons to show 36 | of milk.

5 5 5
litres|| [litres]| [litres litres] | |litres|| {litres
r

5 5 5
it
2 2 2 2 2 2 2
litres] | [litres|| [litres]| |litres]| |litres|| [litres|| [litres
| - . Y [ ~ e

4
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